Addition Deux-Chiffres (H)

Evaluez chaque somme.

95 + 8 = 99 + 6 = 4747 =
44+ 3 = 19+1= 764+ 9 =
23 +4 = 7346 = 434+ 7 =
8341 = 3143 = 69 4 8 =
21 +6 = 97 +4 = 419+ 5 =
84 +9 = 96 + 5 = b3+ 8 =
64+ 8 = 54 43 = 63+ 1=
2445 = 91+ 7 = 61+ 7=
70+9 = 45+ 4 = 68 +5 =
61+ 6 = 91 4+ 7 = 12 +6 =
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Addition Deux-Chiffres Solutions (H)

95 4+ 8 = 103
44 + 3 =47
23+4 =27
83+ 1 =234
2146 =27
84+9 =93
64 +8 =72
2445 =129
0+9=179
61 46 = 67

Evaluez chaque somme.

99 46 = 105
19+1 =20
B34+6="79
3l +3 =34
97+ 4 = 101
96 + 5 = 101
54 +3 =57
91 +7 =98
45+ 4 =49

91 +7 =98

4747 =54

6+9 =285

43 4+ 7 =50

6948 =77

49 + 5 = 54

53 +8 =061

63+ 1 =64

61 +7 =08

68 4+5 =73

12+6=18
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